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updated formulae

. transverse balance
P71 sin 67 cos ¢ + po sin By cos o = P,

p1 sin 61 sin ¢; + po sin B sin P2 = p,

. solution: old formulae
( 2 ) 1 ( ng; [(cos 1 — cos ¢ cos ¢2)p; + (sin @1 — cos ¢ sin ¢,)p, ]

= inZ : .
Do sin” ¢ Sinl% (cos ¢y — cos ¢ cos ¢;)p; + (sin ¢o — cos @ sin ¢y )p, ]

solution: new formulae A (Thanks to comments by Graham)

P1 _ 1 Sinlel (py COS hg — Py Sin )
P2 Sin g12 ﬁ(]?x sin ¢ — py cos ¢1)




updated formulae

: solution: new formulae B

b.) if parameterise (p,, p,) as (p;cos @, p;sin @), results can be formulated as




potential problem when ¢12~0

in(¢—¢
P1 _ b Sms(in o, 2)
' sin(¢1—9)

Do sSin @y Sin102

o when ¢1=d;, in principle this new method doesn’t work, because
. there’s one constraint which always holds

. o anyhow, only for a very small fraction of events; and for those
. events, we can use recoil mass
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comparison of different methods for Higgs mass
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effect on background: new method doesn’t depend on mass
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